BB R

No. 1 B AR
T Fil Ml H i B = B & |[HAL
IR T
EHERBERTX
WET
EHEEYIMT t=3~4cm WMETHEEZESR = 61.20 61. 00
57.2+4.0 m
EEERRI:  t=3~4cm WETHEESR = 29.80 30. 00
m?2
EHE  1=9. 4km WETHEESR = 1.14 1.00
A sk FEEVIV T/MEE m3
VU=
A5y 1.18%2.3,71.8 = 1.51 1.50
A s 7% m3
E¥ELT
FEAH R B T THFHESR = 36.90 37.00
HLEREIES m3
L T TEEFHERSR = 16.40 16. 00
BERA+ m3
HEL {FEFMOH T THEFHESR = 2.00 2.00
I AMS RC-40  BII& m3
i ABF RC-40 2%1.2 = 2.40 2. 40
MELH m3
7 EME  1L=2. 5km T TEEFHERSR = 18.70 19. 00
=B AT m3
B 13 N i = 18.70 19. 00
m3
T
o227 U FeD-4-30 = 4. 00 4. 00
L=4000 1660kg,~ { m
BB | MG RC-40 0.7%X4.0X0. 1 = 0.28 0. 30
t=10cm %  10m40. 7m3 m3
HKHBE| a7 ) — 1 18-8-25BB |0. 7X4.0X0. 05 = 0.14 0.14
t=5cm £#  10m2%40. 35m3 m3
7 L—F 7 3005 L=1000 = 4.00 4. 00
Aoy hEER T-25 b4
H B AE#E 300X 300 B)S%l = 36.00 36. 00
m




FB s B R

No.2 B AR
T fil Ml H ) B = - XA
M E LG RC-40 0.67X36.0X0. 1 = 2.41 2. 41
t=10cm £#  10m%40.67m3 m3
MHBE| a7 ) —  18-8-25BB |0. 57X 36. 0X0. 05 = 1.026 1.03
t=bcm %  10m240.285m3 m3
A N—hrarr—h 0.3X36.0X0. 05 =  0.54 0.54
18-8-25BB  t=5cm m3
TV—F o 7E 3000H = 3.00 3.00
L=1000 T-20 r5a
a7 V—hrE 30084 = 30.00 30. 00
L=500 HiiA B
KT
RERHEKE  AILE R TR EES R = 32.00 32. 00
VU ¢ 100 m
WF T = 3.00 3. 00
VU ¢ 100 &
WFE TR 90° =  1.00 1. 00
VU ¢ 100 1#
S IRHEKAE T
RFIRHEKE ke Rl TR EES R = 7.20 7.20
VP ¢ 150 m
1EAKT
$¢ (155 1k K BE R TR EES R = 1.00 1.00
o 7 UER £ AT
ay 7 U — NI =  0.03 0.03
18-8-25BB m3
Tl P = 0.60 0. 60
m?2
FEMERE RC-40 = 0.10 0.10
t=10cm m?2
% (25 1k K EE g THAEZESR = 1. 00 1. 00
H A BT (B
ar 7 U — NI = 0.02 0. 02
18-8-25BB m3
Tl P = 0.40 0.40
m?2




FB s B R

No.3 B AR
T Fil Ml H i = B & |[HAL
FEWERE RC-40 = 0.10 0.10
t=10cm m?2
HIfL T
a7 ) — hHIFL VP ¢ 150/ = 1.00 1.00
BERR TS t=4cm ¢ 170 i
¥ 5E a7 U— hHIFL VU ¢ 100 = 4.00 4.00
H A ERIES t=6ecm ¢ 140 1l
% 5E a7 U— hEIFL VP ¢ 150 = 100 1.00
H A ERIES t=6ecm ¢ 190 1l
LB SILoOREE LiX. A HARAREE FRINICE T
ELEE IR T
RKIE T BHABREAsISF |G TEFERSH = 19.00 19. 00
JERET  t=4cm m2
FJE T FHABRIEAs13F = 33.80 34. 00
RBEEA DB t=3cm m2
AT ORI AM-25 = 52.80 53. 00
t=15cm m2
AR = 32.60 33. 00
e el m2
F/E 1T BRI EAS13F F—R— LA = 29.60 30. 00
REEA DB t=3cm m2




5 BE B B O
B MR
No.4 B BERE R
T ff bl H & i X OB W
FHEARR LXK
i T
AR t=3~4cm WETHAEESK =  44.50 45. 00
30. 4+14. 1 m
EEERAEAE t=3~4cm Wt THEESR = 17.10 17. 00
m?2
FREME  L=8. 8km WETHEESMR = 0.60 1. 00
Asik  FEEIMIV T/ MEE m3
A5
U 0.6x2.3,71.8 = 0.77 0. 80
A s % m3
F¥LT
AR B T THEFERSR = 23.10 23. 00
FEmEEIES m3
HEL T THEEFERSR = 6.90 7. 00
BERAEL m3
HEL FEFHOR +THHESR = 1.54 2. 00
I A4 RC-40  BIi& m3
i AKF RC-40 1.54%1. 2 = 1.8 2. 00
WELH m3
7 H5EE  L=2. 5km T THEEFERSR = 15.40 15. 00
ES=NEE m3
P 5 A\ g = 15.40 15. 00
m3
R T
BRI V=F ) (I PU-G300 [ {piyd T 3+ 5 1 - 9200 2.00
L=2000 464kg, & m
S E |G RC-40 0.56X2.0X0. 1 =  0.11 0.11
t=10cm £%  10m%40.56m3 m3
Mo 7 U — 1k 18-8-25BB |0.56X2.0X0. 1 = 0.11 0.11
t=10cm £%  10m%40.56m3 m3
T L—F 7 3008 L=1000 = 2.00 2. 00
Aov hEER T-25 e
B AEMATE 300X 300 %%l = 26.00 26. 00
m




%5

I=R
==X

LU O e

BB AR

No.b B BERE R
I i k] H 7t B = B & |HAL
SHE | LG RC-40 0.67X26.0X0. 1 = 1.74 1.74
t=15cm %%  10m2%40.67m3 m3
MBE|FEMa 7 ) — 18-8-25BB|0. 57X 26. 0 X 0. 05 = 0.74 0. 74
t=10cm %% 10m%40. 285m3 m3
A N—harrJ—}k 0.3X%26.0X%0. 05 = 0.39 0. 40
18-8-25BB t=bcm m3
TVv—F o 7E 3000H = 2.00 2.00
[=1000 T-20 e
arv7 U—h#E 30054 = 22.00 22.00
L=500 Hi&H L
RE IR PR T
RFRPEARE  HEKE Al TEHEESR = 6.40 6. 40
VU ¢ 150 m
HEF TILAR 45° = 1.00 1. 00
VU ¢ 150 |
B HEAKE T
BotHEKE  HEKE Al TEHEESR = 0.35 0. 40
VP ¢ 200 m
1=K T
|15 1k K EE g THAEEZESMR = 1. 00 1. 00
KEWT 7™ V=T RS & AT
a7 — MR =  0.03 0.03
18-8-25BB m3
Tl P = 0.50 0. 50
m2
FEHEVEAT RC-40 = 0.10 0. 10
t=10cm m2
(275 1k K EE e TEHEES R = 1.00 1.00
H o A BT & T
a7 ) — MY = 0.02 0. 02
18-8-25BB m3
Tl = 0.50 0. 50
m?2




S
o>
R
Rt

% B

BB AR

No.6 B BERE R
T fE A H g B = ¥ & | HAr
ST RC-40 HHERESR = 0.10 0.10
t=10cm m2
HIFL T
a7 U— RMHIFL VU ¢ 150 3¢ ERL 72 L = 1.00 1. 00
BERX U KBEES t=6cm ¢ 170 fL
a7 J— hHIFL VU ¢ 200 = 1.00 1. 00
BERMEES t=10cm 220 | 1L
%z&(ar 7V — ML VU 150 = 1.00 1.00
BEWF BT t=10cm ¢ 170 | 1.
FREXSE 1LoREF Bix, B ARERETFMRNICES T
LRI T
BT HARREASIF |k TEFERSR = 14.50 15. 00
ERES t=4cm m2
=BT HARREASIF (RS =  3.60 4. 00
LRE R D ERMt t=3cm m2
FRERAE T CREAREAM-25 [SEHERSR = 15.10 15. 00
t=15cm m2
HREL EETFMOR 3.0X0. 37 = 1.11 1.00
HE AR M-25  BIL& m3
B K B FREAM-25 LL11X1.2 = 1.33 1.30
WELH m3
4 T
THB 7R — AR AN FE R 5% =  1.00 1.00
PERE LED AL b EESR A~ =
X ERCNER | EIEER =
A
X R EOINER | HERRL B ARRE R} = 1.00 1. 00
=
X ERCNER RERRE = 1.00 1.00
=
Mg5avs)—b 18-8-25BB T TEHEESR = 0.03 0.03
AT vy A5 ) m3




[RHAFTETK]

= Sehe =
W = T i BOE £ 5 £
4 R i H KX AL & =
SRAERREEE L
HRIEGIET 7 A7 70 R t=4em
44.0 + 13.2 L 57.2 m 57.2
TAZ77/ kN t=3cm L 4.0 m 4.0
TAZ 7 NIRELl 7RAZ77L t=4cm t=3cm
0.50 X 57.2 28.6
0.30 X 4 1.2
ot 29. 8 m2 29. 8
T AT 7 v NE R AL
0.04 X 0.5 X 57.2 1.1
0.03 X 0.3 X 4.0 0.04
oz 1.14 m3 1.14




[RHAFTETK]

T L £ XK
% R it B HALL &% &
+ T
i Al
4.1 +25.6 + 1.3 +5.9 36.9 m3 | 36.9
R AR
1.8 + 14.6 16. 4 m3 | 16.4
R efi (RC25-0) fEA
1.0+ 1.0 2.0 m3 2.0
TR A0
36.9 - 16.4/0.9 18.7 m3 | 18.7




[RHAFTETK]

4 R i H KX HAL| % &
+ T
T L—F o 7 REW TS PEHIIE EL=4. 6m +& HEEEXELTELY
2 Al 0.9 X 4.6 = 4.1 m3 4.1
bz SR
0.4 X 4.6 = 1.8 m3 1.8
EREERATIRR b= PRI ALK 1=36. 6m
2 Al 0.7 X 36.6 = 25.6 m3 25.6
bz SR
0.4 X 36.6 = 14.6 m3 14.6
bz e (RC-25-0) L=32.0m MGG LSS
0.03 X 32.0 = 1.0 m3 1.0
5 IR K 50 PEHIICRL=6. Tm
2 Al 0.2 X 6.7 = 1.3 m3 1.3
bz e (RC-25-0)
0.15 X 6.7 = 1.0 m3 1.0
TR A=32. 6m2
o Hl HHatE LY = 5.9 m3 5.9
N = 32.6 m2 32.6




[RHAFTETK]

N = V=i =
R T i B OE - £ FH O F
4 R i H KX HAL| % &
AT Y 1
7L —F o J RN 227U (FeD-4-30) L=4.0m m 4.0
A FAERC40-0 t=10cm WEFRLY
7.0 = 10 X 4.0 = 2.8 m2 2.8
a7 ) — K| 18-8-25BB  t=5cm
7.0 = 10 X 4.0 = 2.8 m2 2.8
LR A
1.LO = 10 X 4.0 = 0.4 m2 0.4
TVL—F 7 KRAME L=1.0 = 4 e 4
H H ) fc A 300X 300 fEWrA  1=36.0m m 36. 0
FEREREA | FAERC40-0
6.7 = 10 X 36.0 = 2.1 m2 24. 1
Hiffa 27—~ 18-8-25BB
0.29 = 10 X 36.0 = 1.0 m3 1.0
Al e 1.0 = 10 X 36.0 = 3.6 m2 3.6
A 8= | 0. 05X 0. 30X 36. 0 = 0.54 m3 0.54
TV —F o 7#E|l L=1.0m = 3 75 3
27 J— | 1=0.5m = 30 75 30
HEIKT = 1
HILE Vug 100 L=32. 0m m 32.0
T Vue 100 r 3
LR Vue 100 90° r 1
HIFL| Vue 100 VSERSY &5 P 4
R IEHEK T =X 1
BEAKE VP ¢ 150 L=7.2m m 7.2
HIFL| VP 150  VSERSY & P 1

BER KIS B 57




[REABTETIRK]

N = o= =
R T i B OE - H£ FH OF
% B i H KX HAL| ¥ &
kKT = 1
1 51k sk BE o 7 U
i)
a7 U—hk| 18-8-25BB = 0.03 m3 0.03
Tl = 0.6 m2 0.6
FEHERT]  FAERC40-0 = 0.1 m2 0.1
2 51k K BE V S ¥4y
a7 U—hk| 18-8-25BB = 0.02 m3 0. 02
Bl e = 0.4 m2 0.4

FLHERT]  FAERC40-0 = 0.1 m2 0.1




[RHAFTETK]

O T £ £
& i H KX HAL| % &
SEE T
BT AR EEASISF  t=4cm = 19.0 m2 19.0
FET FRAEHMRIFEASI3F  t=3cm
1.2 + 32.6 = 33.8 m2 33.8
FET FRAEHMRIFEASI3F  t=3cm
(F——1 1) 29. 6 = 20.6 m2 29.6
FEAE T BIFRFEAM25  t=15cm
19.0 + 1.2 + 32.6 = 52.8 m2 52.8
NEEEEE SR T R = 32.6 m2 32.6




[RHAFTETK]

A dE = St
% By i H KX HAL| ¥ &
SEE T
SRR IH T EMM 1=38. Om
ERET| FHAEMMKEEASISF  t=4cm
0.5 X 38.0 = 19.0 m2 19.0
FERAE T kigEfEEM25  t=15cm
0.5 X 38.0 = 19.0 m2 19.0
SAEIEIH T HBEFEM  L=4.0m
EET| FHAMMKEEASISF t=3cm
0.3 X 4.0 = 1.2 m2 1.2
FRERAE T kigEfEEM25  t=15cm
0.3 X 4.0 = 1.2 m2 1.2
A T HEE  A=32.6m2 XY
EET| FHAMMKEASISF t=3cm = 32.6 m2 32. 6
FERAE T kigEfEEM25  t=15cm = 32.6 m2 32. 6

F =N A | FARMKIEASISF  t=3cm = 29.6 m2 29. 6




[EEEARFTETKX]

W = T ? R OE £ i K
4 PR LR SV HAL| % &
EAL IR U L
X & v
LRI 72774 R t=4cem
L = 304 m 30. 4
T A7 7))L N t=3cm
2.1 + 12.0 L = 14.1 m 14. 1
TAZ77 NV NEEELl 72757/ t=4ecm t=3cm
0.50 X 27.0 t=4cm 13.5
0.30 X 2.0 t=3cm = 0.6
0.50 X 6.0 t=3cm = 3.0
aEt 17.1 m2 17.1
T AT 7 bE AL
0.04 X 13.5 0.5
0.03 X 3.6 = 0.1
aFt = 0.6 m3 0.6
THBA A — A RN s - BRE fi& AT 1




[EEEARFTETKX]

T L £ XK
% R it B HALL &% &
+ T
i Al
3.0 + 18.9 + 1.2 = 23.1 m3 [ 23.1
R AR
1.5 +5.4 = 6.9 m3 6.9
R e (RC-40) FEA
0.54 + 1.0 = 1.54 m3 | 1.54

TR A0
23.1 - 6.9/0.9 = 15.4 m3 | 15.4




[EEEARFTETKX]

B e Wi % &
+ T
a7 L—F o RIS PEHI IR L=3. Om T8 KmfEX+LT XY
2 Al 1.0 X 3.0 = 3.0 m3 3.0
bz SR
0.5 X 3.0 = 1.5 m3 1.5
EREERATIRR b= PRHIIE R L=27. Om
2 Al 0.7 X 27.0 = 18.9 m3 18.9
bz SR
0.2 X 27.0 = 5.4 m3 5.4
bz e (RC25-0)
0.02 X 27.0 = 0.54 m3 0.54
gz 27—k 18-8-25BB
0.001 X 26.0 = 0.03 m3 0.03
5 IR K B PEHI IR L=6. Om
2 Al 0.2 X 6.0 = 1.2 m3 1.2
bz e (RC-25-0)
0.17 X 6.0 = 1.0 m3 1.0




[EEEARFTETKX]

Y = Y wiv =
A T i B OE - £ O &
4 R i H KX HAL| % &
KT Y 1
KEWT R 2 L—T o AN PU-G300 L=2.0m m 2.0
FEREREA| FAERC40-0 WEFRLY
50 = 10 X 2.0 = 1.0 m2 1.0
Fiffa 27—~ 18-8-25BB
0.56 = 10 X 2.0 = 0.1 m3 0.1
FEAFEAR 2.0 = 10 X 2.0 = 0.4 m2 0.4
EN Y Y 0.1 = 10 X 2.0 = 0.02 m3 0.02
Fiffa 7 ) — K| 18-8-25BB
0.29 = 10 X 36.0 = 1.0 m3 1.0
TV —F o 7#E|l L=1.0m = 2 75 2
ERERSRRLRE S 300300 (Bh&EAY)  L=26.0m m 26.0
JERERT|] RC40-0  t=10cm
6.7 = 10 X 26.0 = 17.4 m2 17.4
Fiffa 7 ) — K| 18-8-25BB  t=5cm
0.29 = 10 X 26.0 = 0.7 m3 0.7
FEAFER .LO = 10 X 26.0 = 2.6 m2 2.6
A " — | 18-8-25BB  t=5cm
0.3 X 0.05 X 26.0 0.4 m3 0.4
TV —F o 7#E|l L=1.0m = 2 75 2
a7 U—rZE|l 1=0.5m = 22 ¥ 22
M IR PEK T F2 Y 1
BEAKE VU ¢ 150 L=6.4m m 6.4
=/LAR| VU150 45° r 1
HIFL] VU 150 2 L —F o J A4y (B 1
Bt HEKE
BEAKE VP ¢ 200 1=0. 35m m 0.35
HIFL| VP 6200 BEERMHEERSY &5 7T 1




[EEEARFTETKX]

A7 T i R E £ F £
& B i H KX HAL| ¥ &
kKT = 1
1 51k K EE BEWTH 7 L—F o R
i)
a7 U—hk| 18-8-25BB = 0.03 m3 0.03
Al e = 0.5 m2 0.5
FEHERT]  FAERC40-0 = 0.1 m2 0.1
2 51k K BE V S ¥4y
a7 U—hk| 18-8-25BB = 0.02 m3 0. 02
Bl e = 0.5 m2 0.5
FEHERT]  FAERC40-0 = 0.1 m2 0.1




[EEEARFTETKX]

A dE =
o T £ £
— % By i H KX HAL| % &
HET
BT AR FEASIS  t=4cm 14.5 m2 14.5
BT TR FEASTS  t=3cm
+ 3.0 3.6 m2 3.6
BT RIFHAM25 t=15cm
+ 0.6 15. 1 m2 15. 1
BT RO HE KRR L
BIFHWEEM25  t=37cm 3.0 m2 3.0




[EEEARFTETKX]

Ak J= Poxind
- e
% By i H K HAL| ¥ &
AfidE T
SAEIEIH T JERA L=29. Om
ERET| FHAEMMKEEASISF  t=4cm
0.5 X 29.0 14.5 m2 14.5
FERAE T kigEfEEM25  t=15cm
0.5 X 29.0 14.5 m2 14.5
ETEE I T HEREM  L=2.0m
EET| FHAMMKEEASISF t=3cm
0.3 X 2.0 0.6 m2 0.6
FRERAE T kigEfEEM25  t=15cm
0.3 X 2.0 0.6 m2 0.6
SAEMEIH T RIS PEKES L=6. Om
FET| FHAMKEASISF t=3cm
0.5 X 6.0 3.0 m2 3.0
HWERT| RFAAM25  t=37cm
0.5 X 6.0 3.0 m2 3.0




